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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-We were really hoping that Antalya would be a cheap city, but it turned out to be expensive, ...?

1) weren’t we 2) didn’t it
3)did it 4) were we
2-The child looked around for a moment and said: “I think they are crazy, ... ? ”
1) are they 2) weren’t they
3) were they 4) aren’t they

3-Even though everybody was aware of the dangers of this kind of research, Ted still continued with
the project, ... .

1) and so did his colleagues 2) and his colleagues were, too
3) but his colleagues weren’t 4) nor do his colleagues
4-Had she realized just how potentially dangerous her discovery was, she would surely have suppressed it, ...?
1) didn’t she 2) wouldn’t she
3) hadn’t she 4) wasn’t it

5-A: “I think Canada is not very cold. Sure, it snows, but snow doesn’t mean it’s so cold.”
B: «...”
1) I don’t think either. 2) So is it.
3) Neither am I. 4) I do too.
6-A: “We have to invite Rupert, don’t we?”
B: “..., but I hope he doesn’t come. He’s such a horrible little man.”
1) I expect not 2) I’'m afraid not
3) I suppose so 4) I don’t believe so
7-1 tried both the traditional method and the innovative approach, ... to solve the complex problem I
was facing in the project.
1) and didn’t work either 2) but neither worked
3) and neither they worked 4) but they didn’t work neither
8-While he was meticulously engaged in the task of peeling the orange, concentrating on each precise
incision, he suddenly cut his finger, and ... .
1) so does his brother 2) neither does his brother
3) his brother did too 4) his brother didn’t
9-1 am not quite certain whether the recently bought system has crashed, but based on the observable
signs and performance issues, ... .
1) so it seems to have 2) it has seemed to
3) so seems having crashed 4) it seems to have
10- He decided to pursue his passion, for he believed that doing what he loved would bring fulfillment
and joy to his life, ...?
1) didn’t he 2) wouldn’t he 3) did he 4) does he
11-Despite facing unforeseen challenges and tight deadlines, everybody has admirably contributed to the
resounding success of the project, ...?azmonvip
1) doesn’t he 2) have they
3) hasn’t he 4) haven’t they
12-Feeling the weight of the hectic day, she yearned for a quiet moment alone, where she could retreat into
a good book, savor a cup of tea, and find solace in the soothing embrace of a little tranquility, ... ?
1) couldn’t she 2) doesn’t she 3) hadn’t she 4) didn’t she
13-The storybooks necessary for meeting our pre-intermediate students’ needs haven’t arrived, and ... .
1) neither haven’t the writing books for IELTS 2) the writing books for IELTS haven’t neither
3) the writing books for IELTS haven’t either 4) either haven’t the writing books for IELTS
14-Any aid given to developing countries by the developed nations seems to carry with it an implicit
agreement that the developed country will get something in return, ...?

1) won’t it 2) doesn’t it 3) didn’t it 4) hadn’t it
15-The total three-dimensional living space of the ocean is perhaps 100 times greater than ... .

1) the one of land 2) those of land

3) the ones of land 4) that of land
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Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on
your answer sheet.

16-The detective carefully ... every piece of evidence, meticulously analyzing each detail to solve the
mysterious crime that had perplexed the authorities for months.
1) scrutinized 2) neglected
3) ignored 4) contained

17-The fundamental attribution error is a psychological concept that refers to the ... of people to
attribute their own actions to external factors, while attributing the actions of others to internal

factors.
1) identity 2) entry
3) tendency 4) variety

18-The new smartphone operates without any glitches, providing users with a/an ... and uninterrupted
user experience.
1) sociable 2) intermediate
3) relative 4) smooth

19-She speaks English ... and with a remarkable command of vocabulary and grammar, impressing
everyone with her linguistic skills.

1) inaccurately 2) eloquently
3) thoughtlessly 4) timidly
20-He exercises with great determination, ... to a strict workout routine to maintain his physical fitness.
1) providing 2) depending
3) weaving 4) adhering

21-The teacher explained the concept patiently and in a manner that catered to the ... learning styles of
the students. 2ZmMonvip
1) valuable 2) diverse
3) fluent 4) absolute

22-They have been best friends for years and have always supported each other come rain or ..., offering
help and encouragement during both good and bad times.
1) hail 2) shine
3) mist 4) snow

23-Before ... the actual study, scientists performed exploratory testing on animals to insure that human
subjects would not encounter any severe side-effects.
1) eliciting 2) researching
3) conspiring 4) conducting

24-1t is unrealistic and ... to believe that a single action is sufficient to solve the climate change problem
without considering the complexity and magnitude of the issue.
1) meticulous 2) naive
3) vicious 4) counterfeit

25-When Mr. Anderson was fired from his job, he knew he would be ... for unemployment benefits since
he met all the criteria.
1) suitable 2) sufficient
3) capable 4) eligible

26-It is widely assumed that in ancient societies ... people, who were mainly from the upper class,
controlled knowledge because they were the only ones able to read and write.
1) comprehensive 2) literate
3) devoted 4) intelligible

27-In order to comprehend infinity, you must first understand the concept of boundaries and limits, as
infinity is by ... limitless and never-ending.
1) definition 2) meaning
3) interpretation 4) notion

28-People often ... suicide because they want to escape what they perceive as an intolerable and
inescapable situation, not necessarily because they want to die.

1) undertake 2) perform
3) accomplish 4) commit
29-Careful searching of the literature is an ... necessity in the preparation of any study and solution to
problems.
1) exclusive 2) admired
3) obscure 4) absolute

30-Napoleon’s defeat at Waterloo in 1815 ... to be the triumph, not of progress and reform, but of
reactionary despotisms throughout continental Europe.
1) proved 2) exported
3) unified 4) pursued
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31-A key feature of the national education culture is to ensure equal opportunities for all. Individual
support ... are in place to guarantee that every pupil and student can reach their full potential.
1) motivations 2) explanations
3) measures 4) occupations

32-We are still optimistic about further growth during the year with a number of new product ...
planned in the coming months.
1) authorities 2) margins
3) launches 4) efforts

33-Idealism was founded on the distinction ... by Immanuel Kant between the realms of freedom and
necessity. azmonvip
1) drawn 2) oriented
3) undergone 4) located

34-Republicans and Democrats weren’t just divided over the president’s handling of the job. They also
... many aspects of his character and personality in fundamentally opposite ways.
1) interpreted 2) regulated
3) manipulated 4) intimidated

35-Studies of Whitehall civil servants in 1973 and 1980 suggested that ... exercise at weekends was
associated with the lower risk of heart disease.
1) engaging 2) frantic
3) random 4) vigorous

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.

36-
1) The deer frightening to move and looked at the hunter so piteously that he could not shoot.
2) So frightening to move, the deer looked at the hunter so piteously that could not shoot.
3) The deer was frightened to move. Therefore, looked at the hunter so piteously that could not shoot.
4) Too frightened to move, the deer looked at the hunter so piteously that he could not shoot.
37-
1) There are many people who like to buy on the installment plan; I prefer, however, to pay in cash.
2) In spite of there are many people who like to buy on the installment plan; to pay it I prefer in cash.
3) There are many people who like to buy on the installment plan; to pay it I prefer, however, in cash.
4) In spite of there are many people who like to buy on the installment plan; I prefer to pay it in cash.
38-
1) Not wanting anyone to know and having no money but he simply said it he will go without dinner.
2) Since he had no money but not wanting anyone to know, he said it simply he would go without dinner.
3) Unless he had no money but not wanted anyone to know, he said it simply that he will go without dinner.
4) Having no money but not wanting anyone to know, he simply said he would go without dinner.
39-
1) To switch to a different provider, it can be possible paying much less for your mobile phones bills.
2) By switching to a different provider, it can be possible to pay much less for your mobile phone bills.
3) Switching to a different provider, it is possible to pay a lot less for your mobile phone bills.
4) With switching to a different provider, it is possible paying a lot less for your mobile phones bills.
40-
1) The dangerous chemicals’ low level in the river were enough to cause harm to aquatic life.
2) The dangerous chemical’s low levels in the river were enough that cause harm to aquatic life.
3) The level of dangerous chemicals in the river were enough that cause harm to aquatic life.
4) The low levels of dangerous chemicals in the river were enough to cause harm to aquatic life.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: Hey Linda, don’t jump ...(41)... on buying a car. They are very expensive. It’s wise to do
some research first. A good ...(42)... is one hour of research for every $500 you plan to spend on

something!

B: You’re such a smart ...(43)... . I’m glad to call you a friend.
41-1) the queue 2) the lights

3) the track 4) the gun
42-1) stroke of luck 2) rule of thumb

3) ray of sunshine 4) day of reckoning
43-1) aleck 2) mouth

3) cookie 4) card
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A: My company has been ...(44)... on this latest project and we’re in a difficult situation now.
B: Well, honestly, it’s time for your company to ...(45)... . You’ve been doing some things that

cross the line for years now.
44-1) plugging away

2) cutting corners

3) footing the bill 4) making a bundle
45-1) face the music 2) crank out
3) blow things out of proportion 4) deliver the goods

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the

correct choice on your answer sheet.

The phenomenon of light has always been pondered and mythologized about, but only until recently
...(46)... systematic efforts to determine its basic properties and nature. A whole ...(47)... of cultures
have their own take on the origin of light or the day/night cycle. Some stories see the light and dark
duality as a great cosmic struggle. In the Norse mythology of Scandinavia, wolves chase both the
moon and sun as they arch across the sky. Scientific inquiry into light is yet another expression of our
natural curiosity about the world. In the West, there have been ...(48)... about light since the time of
Ancient Greece. This line of questioning sometimes has led to practical applications as well, ...(49)...
the properties of different kinds of light for the benefit of all.

The Greek hills and islands produced many naturalists and mathematicians in ancient times.
Several inquired about the nature of light. Euclid, ...(50)... geometry, theorized that light traveled in
straight lines and studied the laws of reflection. Another different theorist prefigured the
wave/particle debate over the nature of light by stating that it was made up of atoms that moved at
«.(51)... speed. The biggest advance in the nature of light during this time, ...(52)... from an Islamic
scientist named Al-Haitham. He theorized that our ...(53)... was a result of light entering our eyes. Al-
Haitham believed this light to be very, very fast but ultimately finite in speed. He also made a/an
...(54)... that the refraction effect was a result of light traveling at different speeds through different
mediums. The camera obscura, or pinhole camera, that he invented would later help others
understand human sight. Further advances into the biology of light ...(55)... for about 600 years, or

until the beginning of the 17th century.
46-1) have there been

3) we have made
47-1) clash 2) host
48-1) combinations 2) circumstances
49-1) it allows us to harness

3) and allow that we harness
50-1) famous for his work in

3) his famous work in
51-1) enthusiastic 2) absurd
52-1) though it was 2) though, was
53-1) prospect 2) fitness
54-1) vain attempt 2) empty threat
55-1) had not been made

2) would not be made

2) there have been

4) has there been

3) string 4) point

3) priorities 4) postulations
2) allowing us to harness

4) which allows us harnessing

2) whose work was famous for

4) who was famous in his work for

3) infinite 4) idle

3) it was though 4) was though

3) vision 4) realm

3) huge fuss 4) informed guess

3) will not be made 4) have not made

Part F: Reading Comprehension

Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Language learning styles are the ways that different people prefer to learn a new language. Some
people may learn better by listening, some by reading, some by speaking, and some by writing.
Knowing your own language learning style can help you choose the best methods and materials for

your language learning goals.

One way to classify language learning styles is based on the sensory modalities of visual, auditory,
and kinesthetic. Visual learners like to see what they are learning, such as pictures, diagrams, charts,
or flashcards. They may also benefit from color-coding, highlighting, or underlining words or
phrases. Auditory learners like to hear what they are learning, such as lectures, podcasts, songs, or
dialogues. They may also benefit from repeating, reciting, or singing aloud what they have learned.
Kinesthetic learners like to do what they are learning, such as acting, role-playing, or using gestures.
They may also benefit from moving around, changing locations, or using physical objects to learn.
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Another way to classify language learning styles is based on the cognitive preferences of analytic,
global, and reflective. Analytic learners like to focus on the details and rules of the language, such as
grammar, vocabulary, or pronunciation. They may also benefit from comparing and contrasting,
categorizing, or outlining what they have learned. Global learners like to focus on the big picture and
meaning of the language, such as context, culture, or communication. They may also benefit from
guessing, inferring, or summarizing what they have learned. Reflective learners like to think about
what they are learning, such as their goals, strategies, or progress. They may also benefit from self-
evaluating, journaling, or discussing what they have learned.

There is no one best language learning style for everyone. Different learners may have different
preferences and strengths. The most effective language learners are those who can adapt their
learning styles to different situations and tasks. By exploring and experimenting with different
language learning styles, you can discover what works best for you and improve your language
learning outcomes.

56-The main purpose of this article is to ... .
1) persuade the reader to adopt a certain language learning style
2) inform the reader about different language learning styles
3) entertain the reader with stories about language learning
4) evaluate the reader’s language learning abilities

57-Why does the author discuss lectures and podcasts in the passage?
1) To show that lectures and podcasts are more effective than other learning materials
2) To illustrate the sensory modality of auditory learners
3) To compare and contrast different types of learning materials
4) To suggest some sources of information for language learners

58- According to the passage, which type of learner is most likely to “not see the wood for the trees” when
learning a new language?
1) Visual learners 2) Auditory learners
3) Kinesthetic learners 4) Analytic learners

59-We can learn a language best if we ... .
1) follow the rules and details of the language systematically
2) use the language in meaningful and communicative contexts
3) adjust our learning styles to different situations and tasks
4) reflect on our learning goals and strategies regularly

60-In what magazine is this article most likely to be found?
1) A magazine about cognitive psychology and learning strategies
2) A magazine about cultural diversity and global communication
3) A magazine about linguistic research and language teaching
4) A magazine about personal development and self-improvement

PASSAGE 2:

Perhaps one of the most dramatic and important changes that took place in the Mesozoic era
occurred late in that era, among the small organisms that populate the uppermost, sunlit portion of
the oceans—the plankton. The term “plankton” is a broad one, designating all of the small plants and
animals that float about or weakly propel themselves through the sea. In the late stages of the
Mesozoic era, during the Cretaceous period, there was a great expansion of plankton that
precipitated skeletons or shells composed of two types of mineral: silica and calcium carbonate. This
development radically changed the types of sediments that accumulated on the seafloor, because,
while the organic parts of the plankton decayed after the organisms died, their mineralized skeletons
often survived and sank to the bottom. For the first time in the Earth’s long history, very large
quantities of silica skeletons, which would eventually harden into rock, began to pile up in parts of
the deep sea. Thick deposits of calcareous 0oze made up of the tiny remains of the calcium carbonate-
secreting plankton also accumulated as never before. The famous white chalk cliffs of Dover, in the
southeast of England, are just one example of the huge quantities of such material that amassed
during the Cretaceous period.

Just why the calcareous plankton were so prolific during the latter part of the Cretaceous period is
not fully understood. Such massive amounts of chalky sediments have never since been deposited
over a comparable period of time. The high biological productivity of the Cretaceous oceans also led
to ideal conditions for oil accumulation. Oil is formed when organic material trapped in sediments is
slowly buried and subjected to increased temperatures and pressures, transforming it into petroleum.
Sediments rich in organic material accumulated along the margins of the Tethys Sea, the tropical
east-west ocean that formed when Earth’s single landmass (known as Pangaea) split apart during the
Mesozoic era. Many of today’s important oil fields are found in those sediments, in Russia, the
Middle East, the Gulf of Mexico, and in the states of Texas and Louisiana in the United States.

61-The passage mentions all of the following aspects of plankton EXCEPT ....
1) the length of their lives 2) the level of the ocean at which they are found
3) their movement 4) their size
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62-According to the passage, the most dramatic change to the oceans caused by plankton during the
Cretaceous period concerned ... .
1) the depth of the water
2) the makeup of the sediment on the ocean floor
3) the decrease in petroleum-producing sediment
4) a decline in the quantity of calcareous ooze on the seafloor

63-The “white chalk cliffs of Dover” are mentioned in paragraph 1 to ....
1) show where the plankton sediment first began to build up
2) provide an example of a plankton buildup that scientists cannot explain
3) provide an example of the buildup of plankton sediment
4) indicate the largest single plankton buildup on Earth

64-The word “prolific” in paragraph 2 is closest in meaning to ... .

1) fruitful 2) distinct 3) determined 4) energetic
65-The underlined word “it” in paragraph 2 refers to ... .
1) biological productivity 2) oil
3) organic material 4) petroleum
PASSAGE 3:

As the merchant class expanded in the eighteenth-century North American colonies, the silversmith
and the coppersmith businesses rose to serve it. Only a few silversmiths were available in New York
or Boston in the late seventeenth century, but in the eighteenth century they could be found in all
major colonial cities. No other colonial artisans rivaled the silversmiths’ prestige. They handled the
most expensive materials and possessed direct connections to prosperous colonies merchants. Their
products, primarily silver plates and bowls, reflected their exalted status and testified to their
customers’ prominence.

Silver stood as one of the surest ways to store wealth at a time before neighborhood banks existed.
Unlike the silver coins from which they were made, silver articles were readily identifiable. Often
formed to individual specifications, they always carried the silversmith’s distinctive markings and
consequently could be traced and retrieved. Customers generally secured the silver for the silver
objects they ordered. They saved coins, took them to smiths, and discussed the type of pieces they
desired. Silversmiths complied with these requests by melting the money in a small furnace, adding a
bit of copper to form a stronger alloy, and casting the alloy in rectangular blocks. They hammered
these ingots to the appropriate thickness by hand, shaped them, and pressed designs into them for
adornment. Engraving was also done by hand. In addition to plates and bowls, some customers
sought more intricate products, such as silver teapots. These were made by shaping or casting parts
separately and then soldering them together.

Colonial coppersmithing also came of agein the early eighteenth century and prospered in
northern cities. Copper’s ability to conduct heat efficiently and to resist corrosion contributed to its
attractiveness. But because it was expensive in colonial America, coppersmiths were never very
numerous. Virtually all copper worked by smiths was imported as sheets or obtained by recycling old
copper goods. Copper was used for practical items, but it was not admired for its beauty.
Coppersmiths employed it to fashion pots and kettles for the home. They shaped it in much the same
manner as silver or melted it in a foundry with lead or tin. They also mixed it with zinc to make brass
for maritime and scientific instruments.

66-According to the passage, which of the following eighteenth-century developments had a strong
impact on silversmiths?
1) A decrease in the cost of silver
2) The invention of heat-efficient furnaces
3) The growing economic prosperity of colonial merchants
4) The development of new tools used to shape silver
67-The word “exalted” in paragraph 1 is closest in meaning to ... .

1) unusual 2) uncertain
3) surprising 4) superior
68-In colonial America, where did silversmiths usually obtain the material to make silver articles?
1) From their own mines 2) From importers
3) From other silversmiths 4) From customers
69-The word “ingots” in paragraph 2 refers to ... .
1) coins that people saved 2) blocks of silver mixed with copper
3) tools used to shape silver plates 4) casts in which to form parts of silver articles
70-The passage mentions all of the following as uses for copper in colonial America EXCEPT ... .
1) cooking pots 2) scientific instruments
3) musical instruments 4) maritime instruments

www.OstadLink.com



«g.al..a;’é‘ éﬂl@»

ple By el i jgoT (oks 3y

WA-FEFY (il — AYY TV — cudaandd 9 Wuo oy oM yLld 3535 g0 9

£Y AzmonviP



QbW jeTww

\&-Y olo (yoip 7

by | pasio (9037

OLLI
ol b el @8 pb
(01> ) e (Sox> dile (Sle>) (maﬂ WEPT po rm> oo B9 Sdeme Juiie (S piwl Al ot
e Ol
SIULS (S3god0m0 ol (Jowlie (SiLS S3edpw (OlllS o

A 4
Ol bwl g 9 @ iz 1)

S S 35 Y
Sosianl Al S 3
S ] Uio> ) 039 J oo
98300 Juic (gJ4m8T s (538 bl bl g
3 . . /
MY 9 (# e9p
&0 e 0955 oyl e
52l dogano 4259 Jgua
S0l Lo : 3w
. e . Slgan b Cillan g 5l
AR 335 a0 147 285 Jgane
Szl Laj ol T4 g 5 )iy >
ke 30> ol

ple By el (bjgoT oks Sl

P-FEFY 1yl AYY Wy — paboaindd 9 Luo oy Ml GLLA 3535 o 59

£Y AzmonviP



Y dxio gb)‘w‘,ahiﬂ VFo¥ Cyage B (ygey] —€O» 8595

I ARY oo
(s/me Usle) Ay - i by
S 3 peo &S —
Lel) ador popie s a5 b oo 51,55 51 Olital ez 5 canl Coie Jgl Ao (im0 le) W& -
Al ) €pz 5 ozl pogie g il Cude b (WS plgaual Hgw 30 oo 059
13 1) €S o o=l iz cal? pogde g il Cote b (Wl o)l Hgm s oo 4S9
(€ 5 Y O slaa ¥ ) aily any oz (el darass Jlges DU loaylen by By 0925 Jlo 4
(pol S AL g 05 oo 48T a0 It alaz Jelb nl s 25 ge by 1 5l
r""—‘Su—‘ oolawl “didn’t” 3 ‘Q'I OO Cudn g alo> o.:\ ")Ln)’ o0 Uty
(CF 5Y A glaan;F o))
(ipoi0 puts) «¥» &gy -v
(;AI/J')/
W3S o &S
95 sl 5L (Lal DUt” ol by 80 4y alozr psgio 5 (oo 4 4z 55 R
(sym 05t2) ® &y -y

LSSl ol e b v an az g Ly iz (4F 5 VD glaas 3§

. Sow 39 o A
(CF» 8535 5,) @S ool Jad 5l ow “neither” ;) ol o3 e

sy oz conad Jlgw idgh gl i g9,0 “T think” b alex 34

#«
(mlJ)
4 aS coulare” o] Jub 5 “they” alax ol Jelb g o 48,5 s 1o
(LY 5 Y O sloasn 5 5)) 09 o Jsos “aren’t”
(a8, (puits) W&y -A
s 4 (ol Y
o 39 oo &S
(&Y gV slad 35 5)) poylo jls A nds ey 4 Sley gl 4 axg5 b 5,
sV o) el ol 2« Sl & 9 (0 Dsle) P EigyF v
) ol Sl Cie dlexr Sy @ calaz pogde 5 (re 4 4295 b iz
S S o &S

(«F» a5
aLolddly aS 05l oo atdsl glalox ululy 1SS 5l Glusl A < Jlgw o0l 4o

(pal Y i . . .
o Jsd g ciie alax ol (Ted still continued ...) s,ls )13 o751 L3
Jad & Y glaan S 0 0ed (p 3l “did” b wb 4 cul ool &1235
(ps8) pute) «Fr &y -4 Sl 45 oad oalitul “NOI” &P 4L 3E [0 s guimo “WeTe” S5
w3 peo &S B95050 54 saie OHlex
Job iz e (€8 5 1 claais 3 3)) w,h Ly G sk sl 5o (al Y
90 dlez ;0 o1 S5 51 smm s sl g el Jl dlex 5o “crashed” Lo
(«Y» 4555 5,) “It seems to have (crashed)” el oo Bio (5 0 Ule) «» &i; _¥
’¢
(I ) e
iy S 39 oo 4SS
Gl (gl ol by Slee 55 o5 ol pges 95 oy Aoz Sy Jlg 0
(048 () &g F -1, loz bl dorords Jlgms o by Sl 5o (Had she ...y el oolidl

O a8 Jsd 5 “she” o1 Jelbs a5 555 0 asigi (she would ...) b,

(CF 5T O slaay 35 0)) el “would”

o 39 oo &SI

asbes luasbe s bayy By a S Wl 4y Jlsw dlss 25le SO

ol jlwasbed by By 5l as Aoz )l alox o 1) (o92) fOT” ol

by Gy )t oy By e STl Ao colu o cizen .

Ly Gy o el glalar g L35 Sl 5o qpadly 425l Jutsles (c5me Dte) Fr a0
O3 «sbob 5l €Y &35 5)) il easls )T s » “that, what” sl Hgw 30 oo &89

(€F 31 lowsif 55 e i Job s 1 el ot el St 4 398 oo axde (L think ..) Jo) dlex (olulp 1S5 51 Oliss] dlax
b 2. ). 2) 2 ) sl o >

P (LY 5 Y A slban S o)) o)l (think) solw J oley Jd 5 el
(pal ) g
(pl

£Y AzmonviP



5

i

) | yario otaist

VFo¥ Cyage B (ygey] —€O» 8595

«¥» 3...3; -\Y

ol an as ccul aslidgly, (sospae bl ol slas? o> dox i

(U (s 080 Juiis)

OIS i L e 3 5 s Jolse 4 055 Jlosl (0l S 4y 5131
€l 0,Lal i sinys Jelse 4 o), Ks Jlosl

e (¥

55 (F ol (v

Coga (

(0Uf1s)

(G s ata Jsie) «Fr &y -1

4y g a8 g0 )5 (o0l ] Sz (e iz diedigr 595 ez Lez
€ 8 ol SLasl o 1y addy o 9 (s, 628
e (¥ sl O
oly, (F s (¥
(UFls)

(Ubs s pane Juie) «¥» &y ¥ 14
ol hsiws g Ol o ax g LB Ll b g londs 1) (owodSSH ob calan dax 5
€and oo )15 b cod 1) den e b Sl lee b g 0S5 oo S

lgads jgboas (¥

L_ds)wf L(f

Lle j5ba; ()

G889, 51 (Y

Z
(©U715)

oo
(Ubs s aaae Jais) Frayy -y,
055 Glonr (Folol Lo (glyy 9 035 o0 (3559 ol 36 b gD stz daz
€S (o (S S (o yod Al G 3
ks (S (¥

0055 S (F

0955 4 ()

ok (F
(Uf1s)

«Y» 3..1; -Y\
Glajls a5 ols mosg slasss 4 g dlog> L) pogie pleo? o dox
€8 008,500 15 giie 6 S0l oS b )50 il

oPF s (¥

Gllo (F Olay (¥

(Ubs (s 088 Juiis)

o)l O

Z
(©U715)

(Ubs s pmn Jiiie) > &y vy

Cs K00S0 5l adpan g wilosgs liwss (i 4S5 el Jlo» e dox
Groid 9SS ) SKhaes wy g oo slayley jo 5 Wiles,S Colem al i o
«ailos S

:Gu)ép@om

QS B K sl e o> glimea; “COmE rain or shing” iS5l oS 5 4

(@U}ls)

«F» &g; -1\
:@,Awm
“Despite” asilea by, B, > a5 coul slabez o Jlgor Ulis 3l b
“everybody” alex Jels (52 mizen 3k assls o o 2 (0, 509)
slad;F 0)) a5 “they” el jas 4wl poz joas o (o)
o0 5k srie Jed 4y sl ot alez aSpl @ az g Lo Bk 5 L(«F 5 VY
(«Y» 4,_.)? 3,)

(P48, (pwtra)

(»A’/ﬁ

«F» 3.;_; Y

:@)émw

((;4-:4/ (witn)

L (€1 4555 0,) s Jlw Lo (25l S “Where” jlaw o)le
alaz 5 ool osl 4338 (yearned) ayly Alor b loj 450yl &) 4z g
(Y 5T sloaiys 5 0,) o)l 5L “didN’t” S8 o 4 sl e
«
(plJ)

(048 (puuta) «Pr &gy -y

w39 oo LSS
51 laan T o)) S ooliiul “neither” b wils soi 1, chte (SaS Jab
5 il mei | “either” |, S5 5 5um Ll 4 axg b oouiz o (K
(CF» 838 5 )) oS ooliul alex (slucl
«Jelb+ S5 Jb + not + either»
«neither/nor + cute SoS Jab + Jelo»
«
(pl )

«Wr &g -\ f
w39 oo &S
S o0 5 M Wlis el el Do sl o yabon J5Io a5 ke
oSS Jad Laseie o5 wib o “seemS” alox Lol Jad (€1 435 3))
(C€F 5 slaas 35 0)) aib e “does” (] &l e

(§pw] dlcnas,)

(;A)/-f)/

(5 pl Wlzans,) «Fr &y ¥ -10
o yd oo &SI
“ones” 5 “one” ;I Ko sla bzl 1o ol |1, S5 5l 6,5 sl> &l
OS5 5l 8 a8 ol (€Y 5 VY slaasy 35 0)) 8,8 solanul Gy ol
An35 o)) eyl “that” 4 s JBl j0 e el 8500 8098 (5 1S5l

(&Y

(ol Y

(Ubg s man Jsie) P&y 15
Iy Sldzz g ols )8 w050 |y apleds alad «ds b o5T, 5% ralon doz

03,5 75 1, llie boole 45 1, (555050 culiz B 5,8 Julows 5 a5 2o b

€S > g
OO P (oS ool ( 03 mon B L ()
O ol (F 09,55 Lzel (Y

4
(©U7ls)

£Y Azmonvip



) | yario otaist

VFo¥ Cyage B (ygey] —€O» 8595

(5706 (s rparsw) «F» 3..@’; -YA
Bd 1) o1 a5 sy 5l ales oo a5l 6lp Ygono po,» iala> a3
Lagy) & cdiijon (85055 4 Camss iS5 05l oo piyliolian! 5 Joos

€ oy diplgs o aSl o 4

N SB5 ene 4 ()
oMb S5 (F ool plasil (¥
w3 peo &S

S 425 €055 (L5393 (sliaed; “COmmIt suicide” 3l oS 5 &

4
(©U715)

(5748 Sapamur) «Fr & ¥ ¥4

5 Ugim £95 2 siloslel g 4 13 Ggte 330 Sz 9w lex dox g
€l 3llae & ygy0 G e (5l Jool,

o yaands (Y &lazs! (A

3lae (F e (¥

S 3O peo &SI

«Gdlas &5, 0> slineas “absolute necessity” 1,55, g poo olod 4

(©UF15)

I &g ¥ -v.

iy Si95m MO Jlo o gls [o8] o st ceSor aler Lo

(57U s rpapaw)

€391 Loyl 8,58 juliw ;o el )| slaziul (3 m DLl asly e Dl>dal 5
09,5 yola (¥ o005 et (O
oo, Jus (F OS5 o (Y

4
(@U715)

«¥» &g ¥ -y

2o b (o ¢ o Ghjgel Kinp sudS glo Fios 5l (S ralex dez

aS ol 5l plisebl sl (69,8 sl loladl el ann sl il slacuadsn o

(57U (s rpapm)

€l 257y e 395 JolS 358l lls5 42 g g0 gty 5 gl s 0
Teog pal (F 0555 ()
e Jas (F elasl (v

(UF15)

(57U Saptsur) > &y vy

olass s e b Jls Job jo is (S5 9 0l 4 glioees b idlex dax 5

o yld o 293 0] sloole ;0 00l (55 yaali y Qo> Jgao

abl> (Y plie «y0d ()
S (F e glais, (F
:uu)épga&s

QS s« Jgame 45,00 slinea; “product launch” Si55ls oS 5«

(@U}ls)

(Ol i) P&y vy
Ngd relas aSul sl olasesils (Lol Blides pll ) LB ialex dax 5
4 o wiplyss azlge aad (5 )lse WS b Sludl (c2ilejT sladiges a5
€asols plosl tolej] s Slilg (3,

095 o (¥ ONES G ()

OO Ui «yols pll (F oo asbgs (¥

4
(©U71s)

(Ll (i) ¥r &y -ve

Sls JSie 0,5 S sl pla8l S aScpl 4y xals ol o do 5
uwwwww\‘fi),jjwwlo)ﬁ)aujwwﬁul
&l dil>glosls g o2ly

al>gloslu izgloslus (Y &8s ()
> (F

Saele )| (V

4
(©U71y)

(Ll (i) «Fr &y ¥ -vo
G 45 il o i g3 551 gl BT 4 Bgp it Aoz 5

1 s ps] Tl dam Ly e byl s 5,050 (sl [ 3]

«ells
A clie O
Ll aly (F blgs (¥
(©U15)
(llall (paie) «Y» Za”; -Ys

A4S Sly sl o0 ye o linl wolsz 53 a5l ol 1 (553 Logee? iales oz 5
A4S wngy (Sl L 1y o S e JuS |, il wings Gl dabs ) Baee

€y i g wslgsey aaiilys oo

Slgasly (¥ &l
w23l (F aLbiS g (Y
(UFls)
(el ee) > &y -y

PYIPSTPINIY VRN P (AR PRCH PSR PN B SRP U W WSy WS
pled 5 Cusgasme ad o DD o Sl o aS i nepdn |y lacysgasme

Cowl (Gass

Lo (Y Gy ()
potie (F s (¥
:@uéwm

AL s €y ya5 0 wet SIS ,o» glixe 4 «by definition» o le 4

4
(©U71y)

£Y Azmonvip



$ dxio Qh}i}dﬁiﬂ@b&é‘ VEoV Gage £ (ool —€O» 359
(e (Hawlie) «F» &.1; -YA (s, (5 Apopsw) «\» &Q; vy

o 39 peo &SI

W glarans oy 0 )ls Yo @38 oy 4 “SAIA” Jad aSil @ ax55 b
45 ol andls cds (KF 5V sloan S ) sgd oolinwl “would” 5l wb
Cole, €V 4555 50 00l ol Lol sl (55150 wub kLo “but” 5 ae ¢ L3
el od

(das sljsl cup)

(Ubsycssama Jsie) «¥r &y -

S 39 oo &SI

3,) anl e “107 L joae & yp0ds Jad “possible” sl Slas 5o
ologl el «F» 4035 jo jaan ol b alox ol £9,0 (€F 5 W slaasy 38
sl a0l (550l 5 Llod 4y a5 055 0 (529D “dangling” o le

(Uas sljsl cap)

5 5oliT 5yal8 s cilS Jigilas) 4 s pled bl S ole, B e daz 3
Cad Lo el oals JB & g0
005 b (¥ 0055 ey ()
085 Joee Lt o g (F 005 4028 3l el (¥
2w 3® a0
“Draw a distinction between A and B” I, 5, 5 vt To0 4
AS S8 € 90 G b BB Ly glseay

(©UFls)

(57 s Aposw) <\ &y ¥ -vF

S e [ogmm] oy L ol S50 5 lalss 530027 talar Aoz 5
stz 5l 6yl frizen Lol aindls S S 00z oSy Lags
€33 S oo s (g0lite Lulusl (looges 44 1) gl Capaied 5 Cadhpoo

0955 el (¥

owilu s (F

0255 ek ()
0055 s (Y
(©UF15)

(U (s 1080 Judis)

«F» &g}f —f.

o 39 e &SI
Y 5T glaa S s)) ol o “enough + to verb” s s
8,105 0929 llas “Were” Jab 5 “level” Jels o «F 5 V> slaan ;¥

(dhoy s1jal cawi )

(598> (s Aparens) «Fr &y ¥ -F1

G@o ,8 o8 8> ()

05 o3y 8 €Lz 51V

Sz SSL ols ot L] o 5 51
0255 B9y sega | 595 08,8 alme (¥

(JUa)

(59U (s rpar0na) «¥» &y ¥ -fY

eilbgtes O
4,55 g e s s 15 baclB (Y
WS (oo Jriig> | O1Res w lalyd 50 a5 g (F

Clas 49 59 (S 59, (F

(aa)lha)

(59U (sapor080) «7’» f“_}f -fY

Ol rm] 4 sy F"] wal> psl (A
Qedgn o,l8 (F Digaly r:.ﬂ (v

(aa)lha)

(57U s rpapw)

«F» 2.4“; Yo

Vahe 5 1AVY clalo ;o Jlacyls el olace,lS Slalas alax Loz
[am Skl a8 s b asin 31 EdLdasy ;5 aad (S (o8 45 ol olas
€l bagye (A8 5 lon

Slgailgys cazasl (¥ aildgs waisS 50 ()

SAD WDl g s (F oiSTyy o sbolas (¥
w9 oo &S
Crd g Cudlad gline 4 “VIGOTOUS €XErcise” ;S5 5 5 poe 2lp2 4

AS B Kayal Sy

(Ufl5)
(e fawle) Fr &y -vs

o 3S oo ASS

Sorie JSb an 85 oo (o aker parie 4z g L€ Ay5S o
aS anl aals cds paimen o] el JSE 4 4 o)l 5l e
azg L (€O 4555 5,)) abl e Slol g wlj I ol jo “and” sg>y
5l o 45 e o “So + adj/adv + that + subject” sl 4
(LY 5T slaais 5 5)) w,l 5bs Jebb Sy & “that”

(des s1j8l cag )

(ol laute) D&y -ry
:@,emkﬁ
ol 5l o ol sl e adlol &> G “In spite of a5 > 5
adads o «F» A5 0 («F 5 T glada 35 5)) 0gd cod ooliiwl alex
a7 o (ol e il 4 IS 4 s oS ) oS g

BN patrie
(dhos (s1j8l cap)

£Y Azmonvip



Y i b3 1 pazio polaist

VFo¥ Cyage B (ygey] —€O» 8595

(5 piw! Jlczans )
w3 peo &S

“in’ geometry” Lo 4 il Il sl o alox poghe 4 425
So a5l JB sl 0 («F 5 T laan 35 0)) o)l Kawain ,o» slies 4
s Jol jo ez sjls Jeld 550 0 iy ledbl &1y aw a5 ol Jo
“who was” |tsl. aS cul ssgs “who was famous for” o0
(LT 435 5)) o)1y yud Bl ol

(c/wi,'ij

(5 piw] Wlczans,)
zs wliex! (Y st (0
Jos (F S o wgamals (¥

(c/w';ij

«Y» &.3; -0

«¥» &9 3F -0

(s9Ue> (s rppp0ns)

RELRET

0% w2 4 ook Jo (F

«Y» &g; _f¥f
O3S P S g addy g ()

00,5 sy (¥

(59U 5 (s Aparasn)

«Y» 3..3; ¥
ol I8 Coge (528,03, ()

0355 o3l a5 (¥

0055 aillee (ols a9l S5y g (F

0 o g b 4 (F

(s pw] dlcnas,)

(s piw] Jlcans )

«Y» 3..4; oY

«\» 3..3; —fs

:@)émm

o 39 oo &S

2 6750 el ol Gy el i3 S8 55 g 51 S alex (Lol Jelé
(JEl 5SS U5 g 4 4295 L (T 5 1 sloany 35 5)) 995 Jlsy alexr
(CF> 3035 5)) 0505 )58 U5 s 55 olee o ks “though” Ly, &>

(c/wi,'ij

5095 ca SSg)l ,lzs alax Sonly until recently” |bsls 4 a>g L
o ol 40 2255 LT 5T (slad S 0)) wiige Jebb 5l 3 (S Jad
3,) 8,5 eolaiwl 880 Jad 5l g5 ged S sla jo calex dalsl yo “efforts”

(«» 4,_.)?

(czuw';;lﬁ

(s piw] Jlcnns ;)

«Y» 2.4; —-fV

(5 piwl dlczans,)) «» &‘1; _aY Ol b slass (¥ s gl O
Sltel aiSS alais (F Ay eylomny (¥
cels (¥ sailaie ()
¢ e o S 3d oo &S
3 ( %3 el € .
P - < b slaw» slixe 4 “a Whole host of something” l55ly <5 5 «
(s ol) ’
WS CBs K g
( W}}vuj
(s pwl Ulcans,) «F» &y ¥ -of
I e oS98 A () (5 pun] Wlcans,) «Fr &y ¥ -FA

Wlal5T 5 ys o (F Sby s S szse (¥

(s ;olf

(s piww] Jlccans,))
S 39 oo &S

Ceam slacs, io» Liae 4 “further advances” pgpio 4 4> b
3)) €S8 a5 acil ansls SV su] lej 4 a5 ls (e a4 5L Lass
Lasis “make” Jss ol — “further advances” _: & .(«\» &35
L ACE 83 ) mo s Jstome Hbslo 4y 5L JBle 3o e el pnie
Ol do Cad (p2oin )38 glal) alez 1o ol o)Lil loj aSiyl 4y g5
5 oatyl gl 4 5l (JBslr 55 m 0gdise wlao 48T Gloy Sy
(LD 8588 )) o lo ansds

(c/uui;yﬂf

«Y» &.3; .Y

Cordg oyl i (Y S50
a8 (F Caglsl (¥

(W,’;UT

(5 piwl Jlccans )
w39 oo &S

sl Laio 508 Jog oo @ |y JalS oz 50 wlgi o5 25 4 U5 s
“allow” 5l ax (€ 4535 0)) 8,0 Jgoge pod b Ly By S ol o
ol Jels («F» &35 5)) 0o “107 L jauas 4 5L5 €0l o5l slixe 4
L5350, o)l pased pg 87 5L “QllOW” b oy el 90 alo
4 aslg e 45 ol 00gy “Which allows” & g0 4y Jol )5 alez («¥»
598 oligS “allowing” o900

(W;,Uj

£Y Azmonvip

«¥» &g’; _f4



) | yario otaist

VFo¥ Cyage B (ygey] —€O» 8595

(Ubs s om0 Jiie) > &5 5f
“fruitful” & e s 5l «v» BISTL o “prolific” uls» ale> &ox 3
€l 3 Suo 3 (s yed)

(Galhs 7))

(Ubs csamn o) > &y ¥ 50
“organic material” 4 «v» GBI STl 10 “It” Jolas 5 dolS» alex dox 5

«ols o Ll

(s 7))

(Fbs, /N «r» &.; -5¥

6oL s oz (8 slacd piy 1 SoplaS (ke ulul e dox
«Sounls olilee,a 5
€ lanial U 3L w4y 5, (goladl o 3gSin

(ke )

(Fls) @w)T) «f» z'i‘l)'f -5y
a1y Lime 0,580 €V BISTL, o “exalted” dals @ aox dox
«3,ls (a5, Jle YL <5 “superior”

(s JT)))

(cﬂ“/ ('}é"/r) «f» a"".}f -FA
6l [o3¥] Slgn xS 51 Vgane ol5loso s s Lol (515 sl o0 salos do 3
€000y oo Cawddy 1) (slo s Loy ol
o yiio 3H

(ke )

(U"(M/ ('}‘."“/T) «'» a‘l)'f -#4
e L 45 0,55 sloaalad 4y «V» GIS1L s “INgOts” &uls ralex dax 5
€S oo 0 Ll i oo S

(ctha )

¥ &g -v.

((;;[M/ (%‘/T)
LSyl 58 s Lo IS plyteds ;5 3150 don & e alex daz
€ plimmge ST 52as (S o 0,L0l (5 laxin]

(s )

(93 o Gyt pasa) «¥» &y ¥ -o5
SLaSs 5,50 55 eailss 4y el lio oyl Lol asd aler daz
Cowl by S0l el

(il J)5)

(5485 30 (yuaat pasa) «¥» &y ¥ -ov

o aienSol 5 lo i 85000 (il )5 i 29 saber do
«FuS oo
K grom HER,S0L pnr Conlo oyols olis sly»

(calks 7))

(93 o Gyt pasa) «F» &y ¥ -0A

St Jlaiml an sl 5l esi oS e (nl 4 4z b calor dez
«€Ia3,.8 oo |y idas 00 )5 g |y e oz by 650l pKay
CNES AR A

(aths S)5)

(S 4 (s o) «¥'» &y ¥ 09
Gilidee Giylly 5 Lacmige b 1) 055 0,50l clocSm D alax dax
CpyeSo ol ISS e 0 1) by S5 adlgl o0 oS ol

(alks J)5)

(550 po (gt pota) DA -5.
gl 2l alowo oS 45 5l Jlozol ity alie b sabom doz
€ pSol sl yaly 5 (S (it 8,03 slalne
(ko L)j))

(Gbsscs sons ke P &y 51
€ 320 S o0 Lol SO sloas plod 4y (o> alox Ao 5
oyl joe Job»

(dba )

(Ubs s ot Jie) > &yyF -5y

L5 Lasg o gl s (5 Sz e 0 4y L il o
€3gr o dy by yo S ol 55590 50
Comgldl &S 50 gy JSid»

(tha J5)

(Uboscsaatn Juie) «¥r &y ¥ -5y
o bl ol S3€ BISTL 50 5590 it (35 sloo o ez dox 5

€ &Ll (g gy goa 5 Jlo
(calks 7))

£Y Azmonvip



	12Z-6Bahman402k-www.OstadLink.com
	12Z-a

